TURN #1: OPENING SETUP OF GAME
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Scenario: Celts are attempting to
remove Greek colonists from their
land. Greek colonists have hired a
number of Spanish mercenaries to
defend their colony.
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Lines are about 500m apart
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oCelts fall into
unordered formation to
adjust alignment for
charge against Greek
lines. ;
oCelts have lost over :
50% of their skirmishers
from Greek skirmisher
attacks — not good.

avy Woods Woods
Ry Visioility 2

Impassiole




TURN #12: Celts prepare line for charge by closing order.
River
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Greek Commander
oCelts form close order

as both Greek and Celt
skirmishers fall behind
heavy infantry lin8es.
The Celts charge in this
long line of infantry
formation.
e The Celt charge does
not bring the opposing
lines into contact until
turn #16 because the
“charge” 1s slowed to
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oCelt heavy infantry on right wing
suffer heavy losses at the hands of
the Greek and Spanish infantry.
oCelt “naked” infantry at center are
unable to break through the enemy
pikes, and although they sufter
fewer losses, they fail to inflict losses
upon the opposing Lusitanians.
oOn the Celt left, the cavalry are
eliminated by Spanish infantry.
oGreek skirmishers prepare for
pursuit as Celts lines begin to break

and route.
eOn Turn #19, the Celt army routes

€n mass.
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His Unit is Destroyed!




